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1. ave b pozitif tamsayilardir. a+b=32 olduguna
gore ab carpiminin en biiylik degeri kactir?

Let a and b are positive integers and a+b=32, then
what is the maximum value of the producta and b ?

A)225 B)256 C)300 D)320  E)255
. 055 07
2. (0,057 + m— m =?
A)O B) % C)50 D)70  E)140
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3. 0<A4<C<B,
ABC | 5 Bca | 4 c4B | 3
0 0 0
A-B-C=?
A) 30 B) 50 C) 80 D) 120 E) 210
4. \[2(18+50-8-5/2)=?
A)l B)2 C)3 D) 3y2 E) 4/2
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5. @:1,£=3,@:4:>a2+b2+c2=?
a b c

6. 521.523~517-522-9=1

A)2600 B)2620 <C)2640 D)2660 E)2680
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7. x*'-3x-3=0 = x"+—5=?
X
A) 12 B) 15 G)-3 D) 9 E) 6

8. ¥'<x<x*ve y'<Y ise asagidakilerden hangisi
daima dogrudur?

If ¥<x<X and y2 <Y then which of the following
is always true?

A) x+y>1 B) x'y<-2 C) xy>0

D) T+3<0 E) y>x’
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9. Asagidaki esitsizligi saglayan farkli x tam
sayilarinin toplami nedir?

What is the sum of different integers x’s satisfying
the following inequality?

R NN T

V2-\17

A)-9 B)-10 C) -6 D)-15 E)-12
10. 3y+4z=3

X+2y—-z=6 =>X4z=9

—2x-4y+3z=9 X

A) 12 B) I5 C) 18 D) 21 E) 24
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1. x<y<z<0=>

\/x2 -2xy+y° —%/y3 -3y’ z+3yz* - 2° —|z—x|=?

A) 2x B) 2y C) 0 D) 2z E) 2z-2x
0
N7 /2 A=7
2) 1 7
b—— |:—
3) 4
Al B)2 C)3 D) 4 E) 5
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13. s(AUB) =16, s(A°) +s(B¢) = 14, s(E) = 18

= s(ANB) =?
E evrensel kiime / Eisuniversalset A¢ = E — A
A)S5 B)6 Cc) 7 D) 8 E) 9
14. (gof)( ) 12x+13
(x)
g(x) x+5
A) f(x)=2x-1 B) f(x)=3x-2 C) f(x)=3x+2
D) f(x)=2x+1 E) f(x)=4x+5
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15. C cift tamsayilar kiimesi olsun. 4= [——

ve B:[—\/ﬁ,i‘/@) araliklar olmak tzere

Y63)

(AUB) N C kiimesinin eleman sayisi kagtir?

Let C be set of even integers. What is the number

of elements of the set (AUB) N C , where

[_£ J_) and B= [\/—\/_)arelnterva/s.

A)3 B) 4 c) s D) 6 E) 7

16. x2+(3x—22|+4=0
Denkleminin ¢6ziim kiimesi asagidakilerden
hangisidir?

What is the set of solution of the above equation?

A{-6,3} B){-3,6} C D) {6} FE) {3}




SAUYOS - 2021

17.3f 1) = f1(x-2), f(6)=1 = f(2)=?
f~! :fninters fonksiyonu

! :inverse function of f

A)0 B) 1 Ci2 D)3 E) S
¥
ki ( ]=3—x:>x=? , [C(n,r)=(n]]
r
A)O B) 1 € 2 D 3 E) 4
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19. f(4+3(2x—-5)=5-3x, g(4x2+6x—3)=x2+%x_2
= f3)+g(13)=?

A)8 B)6

20. 2030402 sayisinin rakamlar ile kag farkli 7
basamakli sayi yazilabilir?

How many different 7-digit numbers can be written
with the digits of the number 2030402 ?

A) 160 B) 200 C)240 D)280 E) 300

Sonraki Sayfaya Geginiz >
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21. 8 kitabin 2'si Ahmet'e, 6'si Ayse'ye kag farkh
sekilde verilebilir?

How many different ways can be given 2 of 8 books
to Ahmet and 6 of 8 books to Ayse?

A)12 B) 14 €)21 D) 28 Ey132

ifadesinin acilimindaki sabit terim
asagidakilerden hangisidir?

Which of the following is the constant
term in the expansion?

B) 70 C) 60 D) 80 E) 120
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23. ki zar birlikte havaya atiliyor. Ust yiizlere gelen
sayilarin toplaminin 8 olma olasiligi kagtir?

The two dice are thrown into the air together. What is
the probability that the sum of the numbers on the
top facesis 8 ?

E)

2
A B) —
) )9

1 1
6 3

24. 1 ile 100 arasindan segilen iki tam sayidan birinin
digerinin li¢ kati olma olasiligi nedir?

What is the probability that one of the two integers
chosen from 1 to 100 is three times the other?

L
%
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A ve B sirasiyla g(x)
ve f(x) parabollerinin
tepe noktalari
olsunlar. Bu durumda

b=?
Let A and B be the
peaks of parabolas f(x)
and g(x), respectively.

gx)

A) x* +3x-1

D) x?+2x+2

3 Then, b="?

fx)=x?>—4x+4
gx)=—-x*+bx+c

D) 2 E) 8

26. (x+1)P(x)=x’ +4x +2x+n = P(x)="?

B) x> —2x+3 C) x*+2x-1

E) x> -3x+1
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27. ! Sekildeki paraboliin
grafigine gore, fla-4) =?
6

f(z) According to the graph
of parabola, fla-4) =7?

28. i’= -1 olmak lizere z=3i karmasik sayisinin
kutupsal gosterimi hangisidir?

What is the polar form of the complex number z=3i,
where i?=-17?

A) cos;—r+isin§ B)2(cos72—t+isin§) C)cosm+isinm

D) 3(cosm+isinm) E) 3(cos;—t+ isin%)
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29. 4 _2¥ _6_0= x=9 31, _cot45+tan30 _9
1-tan45-sec60
3 In2 In2-1n3
A) log, = B) —= C) -1 1 1+/3
Ay — Bj— e
2 In3 In3 )\/§ )\/§ ( . )
In3-1n2 2
° g F) log 3 D) 13 )-8
2 V3
32. log, x+log,, x =12.log, x.log,, x = x=7?
2001
2 K
30. 5 =-1, Zl = A)2 B) {2 C)4 D)6 E)8
k=1
A0 B) 1 C)-1 D)1 E) 2i
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33. f(2x+3)=3x4+2x3—5x2+4x—1 :>f'(5)=?

3m\ 1+tanx
34. x € (n,—), — = 2cotx = sin®x — cotx =?
2 3 +tanx
e g2 gl pZ gl
30 30 10 10 30
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35. f(x)=x3—6x+2=>lllirr(1)

A

Feh+2) - f@)

h —

)12 D16 E)20
914 bl pH
3 3
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39. f(x) 2.dereceden bir polinom ve
f)-f'(x)=2x"+3x+4 ise f()=?

__3 If f(x) isasecond order polynomial and
Jy £ f'(x)=2x* +3x+4 then f(1)=2
A)21 B) 16 C) 14 D) 18 E) 20
a 2
x —1
40 f ik =—=a=1
X

1

E) -6 A3 B)2 Q)1 D)4 E)10

-10 -
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41.

9

43.

42.

o

[BA//[DE!/[FG

C x=?

ABC eskenar licgen
ABC equilateral triangle

|AH| = |CD| ,
|BE| = |EA|
= m(BDE) = a =?

B

A) 10°

H
B) 15°

C) 208

SAKARYA

UNIVERSITESI

44.

12

A

|BF|=12cm’dir. ABCD ve DEFG karelerinin

alanlarinin toplami kactir?

If ABCD and DEFG are squares and |BF|=12cm, then
what is the sum of the areas of the squares ABCD and

DEFG
A) 96 B) 36 g R2 D)108 E)144
A B
ABCD bir dikdortgen.
ABCD is a rectangle.
|EC|=16,|BC|=12,|EF|=4
F A(ABCD)=?
D E C
A)204  B)240 C)180~ ®)192 E)216

D G
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45, 47.
16 12
15° - ]
A 1V/2 o) B

O noktasi merkez ve |AO| = 4v2 . Tarali bélgenin
alanini bulunuz.

Point O is center and |AO| = 4V2 . Find the area of
shaded region.

A2 (- 3) B)8m — 3

p)ZE—3
3

C)B?"—B

E)g(n—3)

46.

B(1,-1) C(6,11) D(z,y)

ABC analitik diizlemde bir dik ticgen [4D] dis agiortay
olduguna gére y-x=7?

ABC is the right triangle in cartesian coordinates and
[AD] is an outer bisector. Find the value of y -x = ?

A) 10 B)9 C)8 oy 7 E)6

27
ABCD bir yamuk, |AB|=27 cm, |AD|=16 cm, |DC|=7
cm, [BC|=12 cm olduguna gére A(ABCD) kag cm2 dir?

Let ABCD is a trapezoid and |AB|=27 cm, |AD|=16 cm,
|DC|=7 cm, |BC|=12 cm, then A(ABCD)="?

AY96 -\ BYZS )25 Ppydle g 8l6
5 7 3 5
48. ; 0 ABCDEF bir diizgiin
altigen
E ABCDEF is a regular
hexagon
F C m(ABK) = m(KBC)
IDL| = |LC|
|BK| =5
|FL|=?
A
A5 B2d6 O3 D132 B 62

- 12
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ABCD paralelkenardir.
ABCD is a parallelogram.

A)12

B)6

m(EAB) = 12° , m(ABE) = 18°
|AC|=8,|BD| =6
A(EBC)=?

)9 D)3 E) 18

50.

N

8

X

0 AT 1?\\\\

OABC dikdértgeninin gevresi 22 cm olduguna goére
B noktasinin apsisini bulunuz.

If perimeter of the rectangle OABC is 22 cm then find
apsis of the point B.

A) 12 B) 8 c) 10 D) 11 E)7
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V 53. 1

213]|14(5

O °
Yukarida acik sekli verilen kiip asagidakilerden
hangisidir?

Which of the following is the open shape of cube given

Q V ? above?

OO0
O
>
>

sl o] el
= —— =l [ | _—

Od
O
O

6 — N
oLl ol
— [ = — [ =

D) v E) A
O O
oo 00
w AA oo 80 54.

** A HB &% 1.adim 2.adim 3.adim 4.adim
i j Yukaridaki sekilde her bir kiictik kare bir birim kare

olmak tizere 15. Adimda kag tane bir birimlik kare
vardir?

* * ? How many unit squares are there in Step 15 according to

the above figure where each little square is a unit?

A A) 122 B) 155 C)211 D) 241 E}273

-14 -
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55. Y : 58. o) A Al
_ il m m | o2
A Q Mn
R | L RN [ 1]
- O S T [0 g
[ | L Q A
1.Adim 2.Adim 3.Adim 4.Adim Q A L
Yukaridaki 6riintliye gore 80. adimda kag kare vardir? Q A 7
Q M
How many squares are there in step 80 according to the A n d
above pattern?
A)317 B)313 1311 D) 308 E)301 Yukaridaki sekilde ? yerine asagidakilerden hangisi
gelmelidir?

Which of the following figure must stand instead of ?
given above?

Q Mn A Mn
A) B) Qln C)|A
A Q
Q A
D) A E) n
n Q

59. Birbirine es 125 kiiciik kiipten olusmus biyiik bir
kiiplin butiin ytizeyleri boyaniyor. Bu durumda
boyasiz kag kiip bulunur?

All surfaces of a large cube made up of 125 identical
small cubes are painted. In this case, how many
unpainted cubes are there?

o T o
T 1 SonrakiSayfayaGeginiz
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60. Asagidakilerden hangisi farkhdir?
Which of the following is different?

“JON » /X, @ /X

61. 40 4 11 7
35 3 10 8
30 2 11 9
25 7 10 ?
A)6 B)5 C) 4 D)3 E)2
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62. 17,33,64,124,240,7?

A) 464 B) 442 C)398 D) 468 E)480
63. e e O
o o
© —o——0 o ®
o) o O
o o
1

Yukaridaki resimde kag kare vardir?

How many squares are there in the picture above?

-16 -
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64. . + . _|_ . — 18 66. Asagidakilerden hangisi farklidir?
Which of the following is different?

=10
a4l e

I
>

65. Asagidakilerden hangisi farklidir?
Which of the following is different?

A) B)

©
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67. 69.
— dabc
‘ — bdca = =?
Yukandaki sekildeki tim kesik parcalarla asagidaki

;g g : o
absd P figtrlerden hangisi elde edilemez?

Which of the following figures can not be obtained with
the all pieces in the above figure?

A)3241 B)3214 <C)4312 D)2431 E)4132

) ®
E — logz +10Y + 32

— [0g(10® + 3y)

2|
5
2

s
’

| 4

OAl/— |-

Yandaki seklin eksik parcasi
asagidakilerden hangisidir?

Which of the following is the
missing part in the figure?

-18-
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7. Solda verilen seklin dondirilmis
\I:I hali asagidakilerden hangisidir?
@ Which of the following is the
rotated version of the figire given
@ left?
© © oy
A) )/ O] B)| D 1| 9| ©
O e O
@ N
D)| © N )| X D
u O
s
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73.

74.

olusur?
merged?
Z
A)
%
270
7
c) 7
A
E)

Bu iki sekil birlestirilirse asagidakilerden hangisi

Which of the following is obtained if two figures are

/]

7
it
A

Sonraki Sayfaya Geginiz
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79,
A)9 B) 12 C) 10 D) 14 E) 16
76. ABCDE 47256
CEDAB 25764
& = A-B-C=?
ECABD 62547
DABEC 74625
A)3 B) 4 C)-3 D) -4 E)S

77. 4,7,16,43,a,b,1096 =>b—-a="?

A) 65 B)150 C)230 D)125 E)243

78. 675 — 65
243 —> 18
=a="?
896 —> 102
a73 — 33
A)S B)2 )4 D)1 E)7
79. + X y z
y z+5 x+9
. X Yy z
y 42

X,Y,ZE€ZL (xy ztamsayidir / x,y, z are integers )

Yukaridaki toplama ve carpma islemlerine gére x=?

According to the addition and multiplication tables given
above, find x.

A)4 B)-3 c)3 D)2 E)-4

80.
A= 18 3 |=24
=27 4 |=32
ra =7
8
A) 288 B) 228 C) 158 D) 308 E) 328

Test Bitti. Cevaplarinizi kontrol ediniz.
End of the Test. Check Your Answers.
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